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1 |4 30BEHNBAE M# |FEEsHGAs) 3,425| 4,196,575
2 |5 31 8BEHEAE e |[FHEENGAS) 3,425| 4,193,150
3 |6 30[8EHEAE e |FEssseAD) 3,425] 4,189,725
4 | 4 30[8EHEAE HiE  |(FEESHUASD) 1,600( 4,188,125
515 318EMNEAE WE (FEBEEMGAS) 1,600/ 4,186,525
6 | 6 24 8BEHEAE HE |FHEBESEHGAS) 1,600 4,184,925
7 |4 308BEHEBEAE IH | FEESER GRS 1,600] 4,183,325
8 | 5 31[BEHEAE I | HEEsEEGAS) 1,600] 4,181,725
9 | 6 30|BEMEAE A |FEESEHREAS) 1,600| 4,180,125
10 | 4 30 [8&EMBAE N |FEBERMGAS) BE 1,825] 4,178,300
1115 31 [8EHBAE a5 |FEBHEREGAS) HE 1,825] 4,176,475
12 | 6 30 8BEHEAZ B |FHESNGAS) BE 1,825] 4,174,650
13| 4 30BEHBAZR a5 |(FHESENGAS) #e- O 3,600] 4,171,050
1415 31 BEHBAE X |FHESNGAES) #A-Wo 3,600/ 4,167,450
15| 6 30|8.EMEBAE SH  |FEERM(6AS) #E-WLN 3,600] 4,163,850
16 | 4 30 [10.BHE WE | HUUCREAD) 22,677 4141173
17 15 31[105%E W& | HVILRGAD) 9,916| 4,135,657
18 | 6 30|10.EH%KE HE (AU GEAD 8,666 4,126,991
19 | 4 14[10EHE FNL (HVusk @) 1,200] 4,125,791
201 5 19/10.EKE FN | HVULRGEAD) 2,399 4,123,392
21 | 6 23|10.BHEE HFN | AVILRGAD) 2,000| 4,121,392
22 | 4 30|10.EHE TR | HVULREAD) 3,765 4,117,627
23| 5 31|10.EHE R |HVIVRGBES) 2,214 4,115,413
24 | 6 30|10.EBE M |HAVICRGAR) 3,667] 4,111,746
25 | 4 22 |[10.EHE IH |AVUSREES) 5,670| 4,106,076
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26 | 5 29|10EHE IH |AVULR(BES) 5,841| 4,100,235
27 | 6 27|10EH%E IR |AVUS(BES) 3,861| 4,096,374
28 | 4 25|10.EHKE Ba |F7LurRUAS) 6,052} 4,090,322
20 | 5 27|10.B%E Ba |[27LvbMR(BES) 6,053| 4,084,269
30 | 6 25|10.EHE Ba |27LyRRBES) 6,053| 4,078,216
31 | 4 25|10.EH%E MY |[BEBERVAVI—RVMEAD) 4,000| 4,074,216
32 |5 27|10BHKE e |[BEEBERVALI—1vrM(BAR) 4,001( 4,070,215
33 |6 25|10.B%E Ba |[BETERVAVE2—1vMMU(BASH) 4,014 4,066,201
34 | 4 2510.EH%E e |[EFEERGAD) 2,034 4,064,167
35 | 5 27|10.EH%E Ba |EEEERGAD 2,035] 4,062,132
36 | 6 25|10.E%8 e |[BFEERGAD) 2,051] 4,060,081
37 | 4 30|10=H%E B |[#TLYM(4B5) 1,322| 4,058,759
38 |5 31|10EH%E BB |FTLYR(BAS) 1,323] 4,057,436
3917 1 |10EBE KB |2TLuME(6AS) 1,323] 4,056,113
40 | 4 30|10.BH%E HE |EREERUALI—RIMLUAS) 3,544| 4,052,569
41 | 5 31|10.E%E HiE  |EEBERVI2—RIMMEGEAS) 3,531 4,049,038
42 | 7 1 |10.EHE WE | BEBERVIUE—RYMEGAS) 3,567| 4,045,471
43 | 4 30|10.BHE B (EEEERGASD) 2,241{ 4,043,230
44 | 5 31 |10.EHE B |[ESTERGED 2,247| 4,040,983
45 | 7 1 |10.EBH%HE W& [BEREERGAD) 1,834} 4,039,149
46 | 5 6 |1I0EHKE Fiil |BEBERUALE—RYML(AAS) 4,265 4,034,884
47 | 5 31 |10.E#%E F) |EEEERVALI—RIER(5FESH) 4,267 4,030,617
48 | 6 28 |10.EFE F |BEEERVAE2—RIMUEASR) 4,271] 4,026,346
49 | 5 10[10.EH%E FI |2TLUMAAS) 1,322} 4,025,024
50 | 6 10[10.EHE FI |2TLubE(BAS) 1,323 4,023,701
51 | 7 10[10.=%%& #I |#TLYMEBAS) 1,323 4,022,378
52 | 5 10|10.EHKE FHI [EFBERGAD) 1,349| 4,021,029
53 | 6 10|10.=%% HI |EREERGAS) 1,343| 4,019,686
54 | 7 10|10.B#%#& HN |BEHBERGAS) 1,350 4,018,336
55 | 4 25|10.%%E 5 |ZTLYrR4AS) 6,822]| 4,011,514
56 | 5 27|10.EB%K%& W |4ILurR(BAS) 6,823| 4,004,691
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57 | 6 25|10.E%E 58 |[FT7LurR(6AD) 6,823 3,997,868
58 | 7 31 |8 EMBAR Ma |SEmES RS 3,425| 3,994,443
59 | 8 30 |sAMMAR s (B GA) 3,425/ 3,991,018
60 | 9 30|8BEHEBAER M |(FEEsmMOAS) 3,425 3,987,593
61| 7 31|sAHMAR HWE | smmEs A 1,600| 3,985,993
62 | 8 31|sAMMAR WE | S (A %) 1,600| 3,984,393
63 | 9 30| HMMAR HWE R 0A5) 1,600 3,982,793
64 | 7 31 [BEMEBAE N |FEmBNOAS) 1,600| 3,981,193
65| 8 31 s HHMAR TH (BTN GRS 1,600| 3,979,593
66 | 9 30 (s EMBAR STH  [HEREH A 1,600 3,977,993
67| 7 31 |sEHBAR EH | FRREH AR 5,425| 3,972,568
68 | 8 31 |sRKEMAR EH |[HMEESGAR) 5,425| 3,967,143
69 | 9 30|sEMBAR EH | SMERE 0AS) 5,425| 3,961,718
017 7 10EKE HN | HAVILRTAD) 1,200 3,960,518
71| 8 18|10.EH%E Hil AU RERD) 2,400 3,958,118
72 | 9 28|10.EHE FIN AU GAD) 2,400 3,955,718
73| 7 31 |10EBR EH | HUULROAD) 3,819| 3,951,899
74 | 8 31 |l0BHH EH |HVUAEAD) 2,310| 3,949,589
75 | 9 30|10HHR EH | AVUSROAR) 3,080| 3,946,509
76 | 6 251 MEHEE My B HEREATRLSACKRRECR| 75310 3,871,199
77| 6 25| mEHRE wig | Vo MERE LTEESARAROA) 78.190( 3,793,009
78| 6 251 MEWER oy B RERE ATRESACKRECR| 77010 3,715,999
79 | 6 25|1mEHRR s | R ERT ALFEESARRECR | 78010| 3,637,989
80 | 6 251 AEHER wfp | ARG ATECSAREECA] 77550] 3,560,439
81 | 6 25|1BEHRR A [Por BEREATECSACRRECR| 77390] 3,483,049
82| 6 29|1BENER gy X BETRESWRRTOANE~ 129135| 3,353,914
83 | 11 28 [3EEE KRS |IREEVo14 IR 782,169| 2,571,745
84 | 11 19N FAEARE He |[HE fRm-Mgm (1 A198~218) 103,700/ 2,468,045
85 | 11 19\ AEHARE MHiE |RE RF-MET(T1R19B~218) 79,670| 2,388,375
86 | 11 19 1AEMRE IF |RE ARE-MEF(11A198~218) 79,090( 2,309,285
87 |11 19|1 BEHRR Il 9% AMm-AETH(1A19A~218) | 78,390] 2,230,895
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88 | 11 19 1.IAEHRE B [BE ARTH-MEH(1H198~21H) 79,090( 2,151,805
89 |11 19N AEMKE HH  |RE HRE- MR (11 H198~218) 79,090| 2,072,715
90 |11 19 |1.IAEHEE A |RE AESH-MET(11B198~21H) 79,090( 1,993,625
91 |10 31 [B.EMEBAR e |HEEFHEM (10A%) 3,425( 1,990,200
92 |11 30|8EHEAE Ma |(FE@ESEE (A 3,425 1,986,775
93 |12 31 |B.EHEBAE e |FEEsEs (2A) 3,425| 1,983,350
94 | 8 31|10.EKE HiE |(HVULR BAM) 5,208( 1,978,142
95 | 9 30 |10.EH%E HE  [HVUri (984 13,263| 1,964,879
96 |10 31 |[10.E2H%E WE |HVULR (10AS) 17,766| 1,947,113
97 |1t 30|{10.EHKE HE (VUL (11AS) 4,900| 1,942,213
98 |12 31|10.3%%E WE [HVULK (1285) 14,060} 1,928,153
99 | 8 22|10.BH%E AR AVULR (8BS 6,117] 1,922,036
100] 9 23|10.E%E IH |HVULE A 6,101| 1,915,935
101 7 25|10.EB%KE IH AU (TR 4,038| 1,911,897
102 | 10 27 |10.EHE Fi AV (108%) 2,000| 1,909,897
10311 30 |10.EH%E FH AU A 1,600 1,908,297
104 {12 21 |[10.E#%%& FN AU (1284 2,800| 1,905,497
105 | 10 31 B EMBAE B (HEESEH (0AS) 5,425 1,900,072
106 | 11 30 |8.EMEAE HH |FEESES (1AS) 5,425 1,894,647
107 {12 31 |8 EHBAE BN |HEEHEN (1285 5,425| 1,889,222
108 [ 12 31 |8 &EHEBAE Y |BRBBFRESRH QED 2,400| 1,886,822
109 | 10 29 [10.EBHE ER |HVUSR (10A5) 3,920] 1,882,902
110 11 15[10.E/%% R Hvuse (1B 1,050/ 1,881,852
11112 28|10.EHE R |HVILR (12R%) 5,234| 1,876,618
1121 5 27 BILHRE BH |WREE Vo2 209,356 1,667,262
113110 31 8. EHBAE HiE |FEEEN (0AM 1,600/ 1,665,662
114111 30 [8EHBAE W& (FEBHsEE (1AM 1,600| 1,664,062
115112 31 |8 EHBEAE BE|FEmE (1289) 1,600| 1,662,462
116 |12 16 [8.EHEAE WE | BARBBERERE OF9) 2,400} 1,660,062
1171 7 31 [10E%HE WE VIR (7R 15,164| 1,644,898
118110 31 (8 EMBAE I |FEESEM (10A9) 1,600} 1,643,298
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11911 30|8BEHEBAE IH  (FREsH (1AM 1,600] 1,641,698
12012 318 EHBAE I |FREHE (1285 1,600| 1,640,098
121111 29 |BEHBAE IH |2EREHFENR QGA~9AS) 2,100{ 1,637,998
1221 7 25|10.B%%& Ba |[F7Ly MR (TAMD 6,053 1,631,945
123| 8 26 |10.EHKE e |#T7LubMe (8BS 6,053| 1,625,892
124| 9 25|10 L& % |[#TLvbk (9A%) 6,053| 1,619,839
125110 25|10.BHE e |27LvME (1085 6,053| 1,613,786
126 | 11 25 [10.EKE Ba  [#TLvkk (1TAS) 6,053| 1,607,733
12712 25|10.5%E B |4TLubt (128%) 6,053 1,601,680
128 7 25[10.E%KE e |[BREERUALE—RIMME (TAH) 3,996| 1,597,684
129 8 26 |10.EBE e |[BERTERUAS—FubE BAH) 3,988] 1,593,696
130 9 25 [10.EKE Ma |[BEEBERUALE—RUME (9AH) 3,992| 1,589,704
131110 25|10.B%E Ba |BEBZERVALE2—RubME (10A5) 4,010 1,585,694
13211 25 [10.BH%E e |BEBERUAEI—FUME (11A%) 4,010| 1,581,684
133]12 25 [10.EBE e |[BEEERUAS—rubMt (12H%) 5,563| 1,576,121
134 7 25|10.B%KE Ma (EBEEER TAM 2,043| 1,574,078
135| 8 26 [10EHKE e |[E%EER AN 2,034| 1,572,044
136 9 25 |10.B%E Ba |BFEER (9AM 2,032| 1,570,012
13710 25|10.EB%E e |[BEHEES (10AM 2,057| 1,567,955
13811 25 |10.EHKE e |BHEER 1A 2,035| 1,565,920
13912 25[10.E%E e |EREHER (1289 2,045| 1,563,875
140| 7 31 [10.EHE BE |#ILuME GBS 1,322 1,562,553
14119 2 10EH%E WE |2TLYME (84 1,322 1,561,231
1421 9 30|10.E%E HE (FTLYME (9B 1,322} 1,559,909
143110 31 [10.EHE & |BTLYME 0B84 1,322| 1,558,587
14412 2 [10EHKE ME |#TLYME (1A% 1,322 1,557,265
1451 1 6 |[10.EH%E WiE |BTLYME (2B 1,322| 1,555,943
146 | 7 31 [10.EH%E K& |BEBERVAVE2—RUME (TAS) 3,554 1,552,389
14719 2 [10.EBKE W& |[BEBERVGALE—2VME (BAH) 3,549| 1,548,840
1481 9 30|10.EHHE W& |EETERVAE2—2IMME QA 3,571| 1,545,269
149110 31 [10.EH%E HE |BEBERCIVE—RIME (10BH) 3,536] 1,541,733
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15012 2 |[10.EHE WE |[BEBERCAVE—Rub (1185 3,527 1,538,206
151 1 6 [10EHE W& (BEBBRU L F—FRubE (128%) 3,554| 1,534,652
152 7 31 |{10.E#E WE |EHEER TAM 1,829] 1,532,823
1531 9 2 [10.B%% B EREER BAY 1,829( 1,530,994
1541 9 30[10.B%E WiE |BEBEL AN 1,829| 1,529,165
15510 31 [10.EH%E MiE  (EREER (0B 1,829 1,527,336
156 |12 2 |10.BKE W& |BHEER 1AM 1,829( 1,525,507
15711 6 |10.BKE MiE |[EEBER (1285 2,241] 1,523,266
1581 7 30 |10.EH%E Fl |BEBERGALE—RUME (TAD) 4,267] 1,518,999
159 9 17 10.E%E #I |ERBERVALI—RuME BAS) 4,267} 1,514,732
160 9 30 |[10.EHE FI |BEBERVALI—RUME (9A5) 4,271| 1,510,461
16111 5 |[10.BKE FIl BEBERUAVE—FIME (10A5) 4,280} 1,506,181
16212 27 |[10.EHKE #m BEEERV A F—RYME (11AS) 4,267| 1,501,914
16312 27 |[10.B%E Fl |BEBERVILE—1yME (12B5) 4,271) 1,497,643
164| 8 13|10.EHE # |4TLurME TASD) 1,323| 1,496,320
165 9 10|10.E%E FHL |FTLUME (8RS 1,323 1,494,997
166 | 10 10 |10.BHKE Hil |2TLukE 9B 1,323| 1,493,674
16711 22 |10.E%E H) |FTLubE (1085 1,323| 1,492,351
168 |12 10|10.EHE H [#T7LyME (11AS) 1,323] 1,491,028
169 1 10 [10.EBE I |4TLubE (1284 1,323/ 1,489,705
1701 8 13 [10.EHKE FI |BEFEER A 1,346 1,488,359
171 9 10[10.EH%E I |EHBER GAM 1,346| 1,487,013
17211 22 10 EHE FHI |EHFBER (1085 1,347| 1,485,666
17312 10[10.B%E FI EHBER (1AM 1,618] 1,484,048
174 1 10 [10.EHKE HI EHFEER (128D 1,344| 1,482,704
175| 5 10 [10.EHE SIH |[5TLubt (4% 1,762| 1,480,942
176 | 5 10|10 EHKE IN |[ERBERSSE—2IME WAS) 3,483 1,477,459
1771 5 10[10.8%E IR |EHBER WA 1,614| 1,475,845
178 6 10 |10.EHE TIH |87LuME GAS) 1,763| 1,474,082
179| 6 10 [10.EH%% IH | BREERUAI—2uME (5AS) 3,435| 1,470,647
180 6 10 [10.E%E I |ERBER GAD 1,931 1,468,716
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181 7 10|10.E%E IFR [BTLubME (6AS) 1,763} 1,466,953
182| 7 10|10.E%E IN |EREBERUALI—FRyME BAS) 3,409 1,463,544
183 7 10[10.3%%& IR EHEBHEK 6A4) 1,444| 1,462,100
184| 8 13|10.B%E IF |aTLYRR A 1,763] 1,460,337
185| 8 13[10.BHE I |[EERERERU A 2—FuMM TAS) 3,400| 1,456,937
186 8 13|10.BH%#E IR |[EHEER VA 1,491| 1,455,446
1871 9 10[10.E5E IR |#TLubt 8AS) 1,763 1,453,683
188 9 10[10.EHBE IN |EESBRERU A3V BAS) 3,444\ 1,450,239
1891 9 10|10.B%E IR |EFEER A 1,727] 1,448,512
180|110 10 [10.EHE I |2T7LubE 9AS) 1,763| 1,446,749
19110 10|10 E5E IN |BERSERUAE—rubME (9AS) 3,479| 1,443,270
192 |10 10|10.E3%E IH |[EHEER A 1,429] 1,441,841
193111 11 [10.EHKE IR |8TLYbE (1084 1,763| 1,440,078
194 11 11 10EBE IH |ERBERUALA—HRyME (1084) 3,413 1,436,665
19511 11 10 EHE SIF | EBIER (1089 1,422| 1,435,243
196 | 12 10|10.E#%HE IR (FTLuME (1A 1,763] 1,433,480
197 |12 10|10.5 %% IR |EEREBERVIVE2—FyME (11BS) 3,440} 1,430,040
198 |12 10|10.EHE I [SEEEER (1AM 1,480/ 1,428,560
1991 1 10[10.B%E IH |#TLubME (12845 1,763| 1,426,797
200 1 10|10.E%E I |ERBERUAUE—FuMME (1285) 3,427| 1,423,370
201| 1 10|10 %% TH |EwEER (12A9) 1,544| 1,421,826
202 7 25[10.FH%E R |#TLurt (1A% 6,823 1,415,003
203| 8 26 |10.E%E EX R E o A CY=E 6,823| 1,408,180
204| 9 25|10.FB%E EH [FTLYRE AL 6,823| 1,401,357
205| 10 25|10.E%E HH |ZTLubR (1084 6,856| 1,394,501
206 |11 25[10.EH%E =R |[#TLYME (115 6,856/ 1,387,645
207 |12 25|10.B2%8 = FTLyME (12B5) 6,856| 1,380,789
208 |10 10 |10.EHKE FN EFBER CAD) 1,345] 1,379,444
209| 8 13[10.BHE B4 |PC BAE 200,640( 1,178,804
210| 4 18|1.AEHEE B |8 KRT(4A18E~198) 47,800| 1,131,004
2111 1 27|10.58B& e |BEBERUVA2—3IMOAS) 3,408| 1,127,596
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2121 1 27 [10.EHE e |[#7LubMROUAS) 6,053| 1,121,543
2131 1 31 |BEHEAE W& |(FEBESEHCASD) 1,600f 1,119,943
214| 2 28 |8 EHBAE WiE (FEBESERCAS) 1,600] 1,118,343
215 1 31 [10.EHE HE |2TLubMETAS) 1,322 1,117,021
216 1 31 |10.EH%E HE |[BESERVAVE—RIMEIASR) 3,558| 1,113,463
217| 1 31[10=HE WE (EEEERCQAS) 1,829| 1,111,634
218 RE 0] 1,111,634
219 RE 0] 1,111,634
220 RE 0] 1,111,634
221 RE 0] 1,111,634
222 RE 0] 1,111,634
223 RE 0] 1,111,634
204(10 17 |25RhiER o |E5 ERRTHBXEERT 0817 | 58085| 1,053,549
22578 7 |[\RAEHRE IH [EARZEGEETHER) 5,420 1,048,129
226 3 31 |8EMBEAE WE  (FEERENGAD 1,600] 1,046,529
2271 5 16|10.E%E A& |[HVULKEAS) 11,368} 1,035,161
2281 6 11|10.EHE BRA  |HVULRBAD) 13,611} 1,021,550
2291 7 13|10.E#%E AR |[HVULR6AS) 11,200} 1,010,350
230| 8 17|10.EH%E AR | AVILRTAD) 15,288 995,062
231 9 1410EKE BRA [AVILREBAD) 13,776] 981,286
232 |10 15|10 E%E A |HVULR(QAS) 15,994| 965,292
23311 16 |10.B%E BRA  |HYILRO0AM) 15,329] 949,963
234112 141055 A |AVIART1ASD) 10,386] 939,577
235| 1 16 |10.BH%E BRA [AVUL(1289) 11,320 928,257
236 7 13|10.EHE A |[TUrs—aroR 3,237| 925,020
23712 16 |8 BHBAE BA |EABRSHREEY (1£5) 2,400| 922,620
238| 2 15[10.BE A |AVULHRUAS) 12,530 910,090
239| 3 18|10.E%E A |HVILR(E2AD) 12,928] 897,162
240| 1 26 [10.B%E HI|HUULRCAES) 2,400| 894,762
241| 2 16 |10.EH%E FN AV REQ2AES) 1,200] 893,562
2421 3 30 |10.EHE FN HVIVREBAD) 2,400 891,162
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243 2 10[10EHE IR |TLurMRUAS) 1,763 889,399
2441 2 10|10.BHE IM |EEBERUAVI—RVMLOAS) 3457 885,942
245| 2 10|10 EBH%E IR |EHEEROA) 1,633 884,309
246 | 3 10[10.EH%E IR |[3TLubR 2B 1,763 882,546
2471 3 10[10.EHE AN |BEBERVAE2—FIMECQASR) 3,431 879,115
2481 3 10|10EHE IR |EREERCAD 1,722 877,393
249 | 4 10|10.BH%E TIH |#TLYrRGAD) 1,762 875,631
250| 4 10[10.EHE AN |BEBERVAE—FIMLGAS) 3,417| 872,214
251 4 10[10EHE IN |EEEERGAED 1,550 870,664
252 | 1 31 |8 EMEBAE I |FREHEEGAS) 1,600 869,064
253| 2 28 |8EHEAE AN |FEEsE AN 1,600f 867,464
2541 3 30[8EHEAER IR |FEESESGAD) 1,600, 865,864
255| 3 21 8 A{EAE IF |BEFEOG0A~3A) 2,100| 863,764
256 | 10 16 [10.EHH IR AU 08S) 4,034; 859,730
257 |11 23 |10.EHE IM | AVULROLAS) 4,766 854,964
258 | 12 27 |[10.EHE IR AV G2AS) 6,048 848916
2591 1 10|10.EH%E IR [ HVUSRUAD 2,108| 846,808
260| 2 25[10.EHE IH | HVULRQAS) 6,462 840,346
261| 3 17|10BH%E STH YUK GAS) 4,200 836,146
262 |11 18 |10.E%E IR [PUrE—AUoR 5691 830,455
26310 17 |8 EHEBEAE IN |BBEBA@HEH/NFUAV0I3) 1,000 829,455
264 3 29|10EHE SRS |EBHEREBA 11,290] 818,165
265| 3 28 |2 HEE IR |[HEEWER(3A28H~29H) 78,990 739,175
266| 2 10|10EHE I |FTLuME A 1,323| 737,852
267| 2 10|10EHKE FHI |EFBEEROAD 1,344 736,508
268| 3 10|10 EBH%E FI |FTLUMECAS) 1,323| 735,185
269| 3 10|10.E%E FII |EHBERQAD) 1,346 733,839
270 RE&E 0| 733,839
271 RE 0| 733,839
272| 2 6 |10EHKE FN |EEBERUALI—FUMEAS) 4271 729,568
2731 3 3 [10.EHE FHI |EEBRERVIF—RUME (2B ) 4271 725,297

9 R—3



28 8| = A, 1 £ XHeH | % B

2741 3 31 [10EHE #Il |EEBERVAVF—FRUML AR 4,276| 721,021
275 3 31[10.B#%E FU VIV BAE 131,824 589,197
276 | 1 31 [10.EH%E EH AU ARS) 4,298 584,899
277( 2 28{10EH%E BN (AVULRQAS) 4,230| 580,669
278| 3 31 [10.EHE B (HVILRGES) 4,465| 576,204
2791 1 31 [BEMEAE X (FEEsEEGAS) 5,700f 570,504
280 2 28 (8 EHBAE TR |FEESER A 5,700 564,804
2811 3 31 BEMEAER BN (FHEESHGAS) 5,700{ 559,104
2821 1 27 [10EHE HH |ATLYMEUBESD) 6,856 552,248
2831 2 25|10.EHBE R |#TLUMMEQAS) 6,856 545,392
284| 3 25(10EHE TR |[FTLUREGAD) 6,856 538,536
285 RE 0| 538,536
286 4 18 [10.EH%E B |E35#E 105,600, 432,936
2871 1 31 [BEMEBEAE e |FEESEHOAS) 3,700] 429,236
288 2 28 |8 EHEBAE Ma |(FEEREsCAD 3,700 425,536
289 3 31 [8EMEAER AR |FEESEMGAS) 3,700] 421,836
290 1 27 [10.EHE B |EHESE/RCAM 2,039 419,797
291 2 25 (10.EHKE BMa |EREERCAMD 2,033] 417,764
2021 2 25|[10.EHE A 47U (2AD) 6,053| 411,711
293| 2 2510 EHE Be |EEEERVAF—FUME2AR) 3,821| 407,890
294 | 3 25|10.EH%E Ba [EFEERGAM 2,039] 405,851
295| 3 25[10.B%%& e [#7LyrR @AM 6,063| 399,798
296 3 25 [10.EHE e |BEBERVA2—RIMEBAS) 3,852| 395,946
297 RE 0| 395,946
2081 1 31 [10.EHEE WE (AVULRGAD 14,392 381,554
299 2 28 |[10.EHKE HiE | HVILRE2AS) 12,648, 368,906
300| 3 31|10.EHE WE | AVILKRGAD) 17,737 351,169
301| 4 16 |3EAHE AR5 |RIREV018 KRAF LT 385,350 -3+ &°
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